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&S X 4 B | TiEhoDER ﬁwxéjé & 4 TIHRMSDKE| F& 730)7(%3 R 4 B | tEhSOLE jja)xé:ré X 4 HEhronhE | B ﬁa)jcéjé
(m) (m) (kN/m) BERfE(m) (m) (kN/m) (m) (m) (kN/m) (m) (m) (kN/mi)
1 100kN/mi%#82.% 1.00|0.00 ~ 0.97 114.18| 3m%E{BZ5 ol ~ = = —| 100kN/mM%#8% % 1.00| 11.71 ~ 15.49 114.18| 3m%E#BA 5 ol ~ = = =
zhst 1.00/ 0.97 ~ 8.98 100.00] Z=hilst [0.00 ~ 8.98] 2.24 11.30 zhnLst 1.00] 5.00 ~ 11.71 100.00] #hrist | 5.00 ~ 1549 2.24 11.30)
2 100kN/ Mm% %% -l -~ = —-[3mE#AE| - ~ = - —| 100kN/ Mm% 2% = -~ = -|3m%EBZS -~ = - =
zhist 1.00/0.00 ~ 7.03 86.36| Th st 1000 ~ 7.03] 1.76 8.89 ThLst 1.00] 5.00 ~ 8.83 86.36] zhlist | 500 ~ 8.83| 1.76 8.89
3 100kN/m%#8 2% -l -~ = —-|3mZEBZD| - ~ = = —| 100kN/m%#8% % = -~ = ~-|3m%EiBAD -~ = = =
Fh st 1.00{0.00 ~ 7.99 99.69| Znlist |0.00 ~ 7.99| 2.02 10.21 Fh st 1.00] 5.00 ~ 16.81 99.69| #h 4t | 500 ~ 16.81| 2.02 10.21
4 100kN/mi%#82 % 1.00/0.00 ~ 0.47 106.75|3m%E#BAB| - ~ = = —| 100kN/M%#8% % 1.00| 15.26 ~ 18.67 106.75| 3mZ#BA 5 o ~ = = =
Zzhilst 1.00| 0.47 ~ 8.48 100.00] Z=hilst |0.00 ~ 8.48| 2.05 10.38 zhst 1.00] 5.00 ~ 15.26 100.00] Zhuist | 5.00 ~ 18.67| 2.05 10.38
5 100kN/m%#8 % % 1.00{0.00 ~ 0.99 114.54| 3m%E#Z 5D -~ = = —| 100kN/m%i#8x % 1.00] 12.38 ~ 17.03 114.54| 3m%ZBZ 5 ad ~ = - =
zhusn 1.00/0.99 ~ 9.00 100.00] Zhilst |0.00 ~ 9.00] 2.17 10.97 zhst 1.00] 5.00 ~ 12.38 100.00] Zhuist | 5.00 ~ 17.03| 2.17 10.97
6 100kN/mM##BZ % 1.00{0.00 ~ 1.20 117.67|3mZE{BZD =~ = = —| 100kN/mMi%#8% % 1.00| 11.70 ~ 16.66 117.67|3mZEBZ5 ol ~ - - =
ZFh st 1.00{1.20 ~ 9.21 100.00| #hi4t [0.00 ~ 9.21| 2.24 11.31 Fhn st 1.00] 5.00 ~ 11.70 100.00] #ni4t | 500 ~ 16.66 2.24 11.31
7 100kN/m%#8 2% 1.00/0.00 ~ 2.14 132.48|3m%#AD| - ~ = = —| 100kN/M%Z#B% % 1.00| 11.86 ~ 25.71 132.48| 3mZ#BA 5 o ~ = = =
zhilst 1.00| 2.14 ~ 10.15 100.00] Zhilst |0.00 ~ 10.15| 2.85 14.39 Thst 1.00] 5.00 ~ 11.86 100.00] Zhrist | 5.00 ~ 25.71| 2.85 14.39
8 100kN/mi%#8% % 1.00{0.00 ~ 1.54 122.98| 3m%{BZ 5 =1 ~ = = —| 100kN/mMi%#8% % 1.00| 13.40 ~ 26.77 122.98| 3m%E#BA 5 =l ~ - - =
ZFh s 1.00] 1.54 ~ 9.55 100.00] Z=hilst [0.00 ~ 955 271 13.71 Th st 1.00|] 5.00 ~ 13.40 100.00] Zhiist | 5.00 ~ 26.77| 2.71 13.71
9 100kN/mM##8% % 1.00{0.00 ~ 0.65 109.45| 3ImZ#BZ 5 =~ = - —| 100kN/mM%#8Z 5% 1.00| 17.40 ~ 26.43 109.45|3mZE 25 ol ~ - - =
Fh st 1.00{0.65 ~ 8.66 100.00| #hi4t |0.00 ~ 8.66| 2.59 13.07 Fh st 1.00] 5.00 ~ 17.40 100.00] #h kit | 500 ~ 26.43| 2.59 13.07
10 100kN/ Mm% 2% 1.00/0.00 ~ 0.07 100.97|3m%#AB| - ~ = - —| 100kN/mM%8 %% 1.00| 15.66 ~ 16.10 100.97| 3mZ#BZ 5 -~ = = =
ZThilst 1.00{ 0.07 ~ 8.08 100.00] Zhilst+ [0.00 ~ 8.08] 2.04 10.34 Zhn st 1.00] 5.00 ~ 15.66 100.00] Zhi4t | 500 ~ 16.10| 2.04 10.34
100kN/mi%#8 2% ~ ImEEZD ~ 100kN/mM##8 % % ~ ImEEBZD ~
zhlst ~ ThLs ~ st ~ zhilst ~
100kN/ Mm% B2 % ~ ImEHBA D ~ 100kN/mM%BZ 5 ~ ImEBRD ~
Zhsn ~ Fhlst ~ ZFhLlst ~ ZhList ~
100kN/m%#8 2% ~ ImEHERD ~ 100kN/m% 82 % ~ 3mEBRD ~
ZH LIS ~ Zh st ~ ZHLLS ~ Zh Lot ~
100kN/mi%#82.% ~ ImEREZRD ~ 100kN/mM#E#BZ % ~ ImEEZD ~
Zh LSt ~ Zh st ~ ZhLIst ~ Zh st ~
100kN/ Mm%z 5% ~ 3mEHBA D ~ 100kN/m%EBZ 5 ~ 3ImEBZ D ~
zhist ~ Zhs ~ st ~ ZThilst ~




